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Enrollment No: _______________________         Exam Seat No: _______________________ 

C.U. SHAH UNIVERSITY 
Summer Examination-2018 

 

Subject Name: Quantity Surveying and Estimating 
 

Subject Code: 2TE04QSE1    Branch: Diploma (Civil) 

    

Semester: 4        Date: 08/05/2018   Time: 10:30 To 01:30   Marks: 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  As per IS:1200, While doing measurements, the dimensions shall be measured to the nearest  

(A) 0.01 m (B) 0.01 mm (C) 0.01 cm (D) 0.1 m  

(1) 

 b)  The unit of payment for flooring is 

(A) sq.m  (B) number  (C) cu.m  (D) kg  

(1) 

 c)  Which estimate is least accurate? 

(A) Detailed estimate (B) Plinth area estimate 

(C) Supplementary estimate  (D) Revised estimate  

(1) 

 d)  In measurement of plastering activity, no deduction is made for small opening up to……….and at 

the same time no addition are made for jambs, soffits and sills of these openings.                           

(A) 0.0005 sq.m (B) 0.005 sq.m  (C) 0.05 sq.m (D) 0.5 sq.m 

(1) 

 e)  The ratio of cost of labor to the total cost of building is about                                                                     

(A) 1:10 (B) 1:1  (C) 1:4  (D) 1:2  

(1) 

 f)  As a thumb rule, the percentage of steel in RCC column is taken as 

(A) 1 to 5 % (B) 5 to 10 % (C) 10 to 15 %  (D) 15 to 20 %  

(1) 

 g)  The 'centre line method' is specially adopted for estimating 

(A)  Circular buildings(B) Hexagonal buildings  (C) Octagonal buildings (D) All the above 

(1) 

 h)  In specification of earthwork in foundation trenches, drain etc. specified lead is 

 (A) 1.5 m  (B) 30 m (C) 50 m   (D) 100 m 

(1) 

 i)  Generally for analysis of rates, the reduction in volume of wet mixed mortar over the sum total 

volume of ingredients is taken as 

(A) 5 %  (B) 10 % (C) 15 %  (D) 25 % 

(1) 

 j)  
In long and short wall method of estimation, the length of long wall is the centre to centre distance 

between the walls and 

(A) Breadth of wall (B) Half breadth of wall on each side (C) one fourth breadth of wall on each 

side (D) None of these 

(1) 

 k)  For a bridge, l = clear span, n = number of span and b = width of pier, then length of bridge is 

(A) L = n*l +(n+1)b (B) L = n*l +(n-1)b (C) L = n*l  (D) L = n*l + nb 

(1) 

 l)  A list of rates of various items of work is known as (1) 
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(A) Specification of rate (B) Scheduled of rate (C) Analysis of rate  (D) None of these 

 m)  The information which cannot be included in drawing is conveyed to the estimator thorough 

(A) Specification  (B) Cover note (C) Progress chart  (D) None of the above  

(1) 

 n)  

 

Referring of given figure, pick up the correct statement from the following 

(A) Length of short walls in-to-in is 3.20 m (B) The total length of center line of four walls is 20  

(C) Length of long wall out-to-out is 6.80 m (D) All the above 

(1) 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 A Write detailed specification for foundation brick masonry. (7) 

 B Give the Rate analysis for the R.C.C work 1:2:4 for 10 m
3
. (7) 

Q-3  Attempt all questions (14) 

 A Write the specifications for 1
st
 class building. (7) 

 B Find the quantities of the following items for the fig.  

(i) Masonry work for the wing walls. 

(ii) Pointing work on exposed surface. 

 

(7) 
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Q-4  Attempt all questions (14) 

 A Define estimate? Enlist the type of estimate and explain any two estimates. (7) 

 B Calculate the following : 

(1)No of bricks required for 1 cmt brickwork. 

(2)No of cement bags for 1 cmt brickwork in cement mortar 1:4 

(3)Quantity of sand for 1 cmt PCC in cement mortar 1:1.5:3 

(7) 

Q-5  Attempt all questions (14) 

 A Define Rate analysis. State the factors affecting rate analysis. (7) 

 B Explain mode of measurements for plastering as per IS-1200. (3) 

Q-6  Attempt all questions (14) 

 A Explain the qualities and duties of good estimator. (7) 

 B The figure given below shows the details of a Hume pipe culvert. Find out the quantities of the 

following items: 

1. Total quantity of excavation in foundation. 

2. Cement concrete in foundation 1:4:8 

3. 20 mm thick cement plaster in C.M. 1:4  
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Q-7  Attempt all questions (14) 

 A A room has a clear dimensions 3.0 * 4.0 m. It has an R.C.C slab as shown in figure. 

Top and bottom cover is 20 mm and end cover 50 mm. 

1. Cement concrete for slab (1:1.5:3) 

2. Centering for shuttering for slab 

3. Weight of 12 mm ø bars 

4. Weight of 6 mm ø distribution steel bars. 

  

(7) 

 B Calculate the quantity of material for concrete work of 1:1.5:3 in 10 m
3
. (7) 

Q-8  Attempt all questions (14) 

 A Figure shows the quantities of a residential building. Find out the quantities of the following items. 

1. Excavation for foundation. 

2. Brick bat cement concrete (1:5:10) for wall foundation. 

(14) 
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3. Brick masonry up to plinth in c.m. (1:6)  

4. Brick bat cement concrete (1:5:10) below floor. 

5.Mosaic tile flooring (for all rooms) 
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Q-1  નીચેના પ્રશ્નોનો જલાફ આ઩ો: (14)  

 a)  IS અનવુાય: 1200, ભા઩ કયતી લખતે, ભા઩ને નજીક ભા઩લાભાાં આલળે 

 (એ) 0.01 ભીટય (ફી) 0.01 ભીભી (વી) 0.01 વે.ભી. (ડી) 0.1 ભીટય 

(1) 

 b)  ફ્રોરયિંગ ભાટે ચકુલણીનુાં એકભ શુાં છે 

 (એ) ચો.ભી. (ફી) નાંફય (વી) ક્ય.ુએભ (ડી) રકરો 

(1) 

 c)  કમા અંદાજ ઓછાભાાં ઓછો વચોટ છે?  

(A) ડીટેઈર અંદાજ (B) પ્રીન્થ એરયમા અંદાજ 

(C) પયૂક અંદાજ (D) સધુાયેરા અંદાજ 

(1) 

 d)  પ્રાસ્ટયની પ્રવતૃ્તિની ભા઩ણીભાાં, ......... સધુી નાના ખોરાણ ભાટે કોઈ ક઩ાત કયલાભાાં આલતી નથી. અને તે જ વભમે આ મખુના જાભ, વૉરપટ્વ અને 
વીર ભાટે કોઈ ઉભેયલાભાાં આલતુાં નથી. 

(એ) 0.0005 ચો.ભી. (ફી) 0.005 ચો.ભી. (વી) 0.05 ચો.ભી. (ડી) 0.5 ચો.ભી. 

(1) 

 e)  ભજૂયીની રકિંભત ભકાનની રકિંભતનુાં પ્રભાણ રગબગ............ છે  

(એ) 1:10 (ફી) 1: 1 (વી) 1: 4 (ડી) 1: 2 

(1) 

 f)  થમ્ફ ત્તનમભ મજુફ, આયવીવી કોરભભાાં સ્ટીરની ટકાલાયી આ યીતે રેલાભાાં આલે છે 

(એ) 1 થી 5% (ફી) 5 થી 10% (વી) 10 થી 15% (ડી) 15 થી 20% 

(1) 

 g)  અંદાજ કાઢલા ભાટે 'વેંટય રાઈન ઩દ્ધત્તત' ખાવ અ઩નાલલાભાાં આલે છે 

(એ) ગો઱ાકાય ઇભાયતો (ફી) ઴ટ્કોણની ઇભાયતો (C) અષ્ટકોણની ઇભાયતો (D) ફધા ઉ઩ય 

(1) 

 h)  પાઉન્ડેળન ટે્રન્ચ, ડ્રેઇન લગેયેભાાં ભાટીકાભના સ્઩ષ્ટીકયણભાાં. ચોક્કવ રીડ છે 

  (એ) 1.5 ભીટય (ફી) 30 ભી (વી) 50 ભી (ડી) 100 ભીટય 

(1) 

 i)  વાભાન્મ યીતે દયોના ત્તલશ્રે઴ણ ભાટે, ઘટકોની કુર લોલ્યભુ ઩ય બીનુાં ત્તભશ્ર ભોટટયના કદભાાં ઘટાડો તયીકે રેલાભાાં આલે છે 

(એ) 5% (ફી) 10% (વી) 15% (ડી) 25% 

(1) 

 j)  

અંદાજની રાાંફી અને ટૂાંકી રદલાર ઩દ્ધત્તતભાાં, રાાંફી રદલારની રાંફાઇ રદલારો લચ્ચેના અંતયનુાં કેન્ર છે અને 

(એ) રદલારની ઩શો઱ાઈ (ફી) દયેક ફાજુની દીલારની અડધી ઩શો઱ાઈ (C) દયેક ફાજુની રદલારની એક ચોથુાં ઩શો઱ાઇ (ડી) તેભાાંના કોઈ નશીં 

(1) 

 k)  બ્રિજ ભાટે, L = સ્઩ષ્ટ સ્઩ાન, n = સ્઩ાનની વાંખ્મા અને b = લેયની ઩શો઱ાઈ, ઩છી બ્રિજ રાંફાઈ….. છે  

(A) L = n*l +(n+1)b (B) L = n*l +(n-1)b (C) L = n*l  (D) L = n*l + nb 

(1) 

 l)  કાભની ત્તલત્તલધ લસ્તઓુના દયોની માદીને આ યીતે ઓ઱ખલાભાાં આલે છે 

(એ) દય ત્તનધાટયણ (ફી) દય અનસુબૂ્રચત (વી) દય ત્તલશ્રે઴ણ (ડી) આભાાંથી કોઈ નશીં 

(1) 

 m)  ભારશતી જે ડ્રોઇંગભાાં ળાભેર કયી ળકાતી નથી તે એસ્ટીભેટયને વાંપણૂટ યીતે જણાલલાભાાં આલે છે. 

(એ) સ્઩ષ્ટીકયણ (ફી) કલય નોંધ (વી) પ્રગત્તત ચાટટ (ડી) ઉ઩યનાભાાંથી કોઈ નશીં 

(1) 
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 n)  

 

આ઩ેર આંકૃતીભાાંથી  નીચેનાભાાંથી મોગ્મ ત્તનલેદન રો 

(એ) ટૂાંકા રદલારોની રાંફાઈ 3.20 ભીટય (ફી) ચાય રદલારોની ભધ્મ યેખાની કુર રાંફાઈ 20 (C) રાાંફી દીલારની રાંફાઇ આઉટ-ટુ-આઉટ છે 6.80 ભીટય 
(ડી) ઉ઩યના ફધા જ  

(1) 

     Q-2 થી Q-8 ના કોઈ઩ણ ચાય પ્રશ્નોનો જલાફ આ઩ો. 

   Q-2  ફધા પ્રશ્નોનો જલાફ આ઩ો. (14) 

 A ઩ામાના ઈંટના ચણતય ભાટે ત્તલગતલાય સ્઩ષ્ટીકયણ રખો. (7) 

 B R.C.C કાભ ભાટે દય ત્તલશ્રે઴ણ આ઩ો: 1: 2: 4 10 m૩. (7) 

Q-3  ફધા પ્રશ્નોનો જલાફ આ઩ો. (14) 

 A પ્રથભ લગટ બ્રફલલ્ડિંગ ભાટે સ્઩ષ્ટીકયણો રખો. (7) 

 B આ઩ેર આકૃત્તત ભાટે નીચેની આઇટમ્વની કલાન્ટીટી ળોધો. 

(i) ત્તલિંગરદલારોભાટેચણતયકાભ.(ii)ખલુ્રીવ઩ાટી઩ય઩ોઇલન્ટિંગ 

લકટ.  

(7) 
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Q-4  ફધા પ્રશ્નોનો જલાફ આ઩ો. (14) 

 A અંદાજ વ્માખ્મા રખો ? અંદાજના પ્રકાય જણાલો અને કોઈ઩ણ ફ ેઅંદાજ વભજાલો. (7) 

 B નીચેનાની ગણતયી કયો: 
(1) 1 m૩ બ્રિકલકટ ભાટે જરૂયી ઇંટોની વાંખ્મા 
(2) ત્તવભેન્ટ ભોટાટયભાાં 1 m૩ બ્રિકલકટ ભાટે ત્તવભેન્ટ ફેગની વાંખ્મા 1: 4 

(3) ત્તવભેન્ટ ભોટાટયભાાં m૩ ઩ી.વી.વી ભાટે યેતીની વાંખ્મા 1: 1.5: 3 

(7) 

Q-5  ફધા પ્રશ્નોનો જલાફ આ઩ો. (14) 

 A દય ત્તલશ્રે઴ણ વ્માખ્મા રખો? દય ત્તલશ્રે઴ણન ેઅવય કયતા ઩રયફ઱ોને જણાલો. (7) 

 B IS-1200 મજુફ પ્રાસ્ટરયિંગ ભાટે ભા઩ની ઩દ્ધત્તત વભજાલો. (૩) 

Q-6  ફધા પ્રશ્નોનો જલાફ આ઩ો. (14) 

 A વાયા એસ્ટીભેટયના ગણુો અને પયજો વભજાલો. (7) 

 B નીચે આ઩ેર આંકૃતી હ્યભુ ઩ાઇ઩ કલ્લેટટની ત્તલગતો ફતાલે છે. નીચેની આઇટમ્વ ળોધો: 
1. પાઉન્ડેળનભાાં ખોદાણ નો કુર જથ્થો 
2. ઩ામાના ત્તવભેન્ટ કોંરિટ 1: 4: 8 

3. 20 ભીભી જાડા ત્તવભેન્ટ પ્રાસ્ટય 1:4 

 



Page 9 of 10 

 

 
Q-7  ફધા પ્રશ્નોનો જલાફ આ઩ો. (14) 

 A ઓયડાભાાં સ્઩ષ્ટ ઩રયભાણો છે 3.0 * 4.0 ભી. તેની આકૃત્તતભાાં ફતાવ્મા પ્રભાણ ેઆય.વી.વી. સ્રેફ ધયાલે છે. 
ટોચના અને નીચરા કલય 20 એભએભ અને અંત્તતભ કલય 50 એભએભ છે. 
1. સ્રેફ ભાટે ત્તવભેન્ટ કોંરિટ (1: 1.5: 3) 

2. સ્રેફ ભાટે ળટરયિંગ 

3. 12 ત્તભ.ભી.ના ફાયનો લજન 

4. 6 ત્તભ.ભી.ના લજનનુાં ત્તલતયણ સ્ટીર ફાય 

  

(7) 

 B કોંરિટ કામટ ભાટે વાભગ્રીના જથ્થાની ગણતયી કયો: 1: 1.5: 3 ભાાં 10 m૩. (7) 

Q-8  ફધા પ્રશ્નોનો જલાફ આ઩ો. (14) 

 A આકૃત્તત ત્તનલાવી ભકાન ફતાલે છે. નીચેની આઇટમ્વના જથ્થા ળોધો. 
1. પાઉન્ડેળન ભાટે ખોદકાભ. 
2. બ્રિક ફેટ ત્તવભેન્ટ કોંરિટ (1: 5: 10) રદલાર ઩ામા ભાટે 

3. બ્રિકનુાં ચણતય પ્રીન્થ સધુી (1: 6) 

4. બ્રિકના ત્તવભેન્ટ કોંરિટ (1: 5: 10) ફ્રોય નીચે. 

(14) 
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5. ભોઝેક ટાઇર ફ્રોરયિંગ(ફધા રૂભ ભાટે) 

 

 


